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1. Ingestion of fluorine compounds in 

animal cause:  

(A)   Lameness  

(B) Diarrhea 

(C) Loss in weight  

(D) All of the above  

 1. tarqvksa es ¶yksjhu ;kSfxdks ds xzg.k djus ls 

gksrk gS%  

(A) yaxM+kiu  

(B) Mk;fj;k  

(C) otu esas deh  

(D) mijksDr lHkh  

2. Sewage mixing in river water 
cause:  
(A)   No effect  
(B) Increase in BOD  
(C) Decrease in BOD 
(D) Rise in temperature  

 2. unh ds tyes ey ds feJ.k ls gks tkrk gS%  

(A) dksbZ izHkko ugha  

(B) chŒvksŒMhŒ esa òf)  

(C) chŒvksŒMhŒ esa deh  

(D) rkieku eas òf) 

3. The ultimate source of Energy in 

an Ecosystem is:  

(A)   Sunlight  

(B) Protein 

(C) Glucose  

(D) A.T.P. 

 3. ikfjfLFkfrd ra= esa ÅtkZ dk izkjfEHkd lzks= 

gS%  

(A) lw;Z dk izdk’k  

(B) izksVhu  

(C) Xywdkst 

(D) ,ŒVhŒihŒ 

4. World Environment day is 
observed on : 
(A)   2nd October 
(B) 5th June  
(C) 10th August  
(D) 6th July  

 4. fo’o Ik;kZoj.k fnol dc euk;k tkrk gS % 

(A) 2 vDVwcj  

(B) 5 twu  

(C) 10 vxLr  

(D) 6 tqykbZ  

5. UNESCO Launched “Man and 
Biosphere” program in: 
(A)   1986 
(B) 1981 
(C) 1975 
(D) 1971 

 5. ;wusLdks us ÞeSu ,UM ck;ksfLQ;jß dk;ZØe 

dc ‘kq: fd;k\ 

(A) 1986 
(B) 1981 
(C) 1975 
(D) 1971 
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6. Which of the following defines the 

term “Eco development”? 

(A)   Ecosystem of developed 

region  

(B) Development of an 

ecosystem  

(C) Control of an ecosystem  

(D) Development in ture with the 

Health of planetary 

ecosystem  

 6. fuEufyf[kr esa ls dkSu bdksMsoyisaV dh lgh 

O;k[;k gS\  

(A) fodflr {ks= dk ifjfLFkr ra=  

(B) ,d ikfjfLFkfrdh ra= dk fodkl  

(C) ,d ikfjfLFkfrdh ra= dk fu;a=.k  

(D) xzg ds ikfjfLFkfrdh ra= dh lqj{kk ds 

lkFk fodkl  

7. Ecology is connected with study 

of: 

(A)   Environmental factors  

(B) Effect of plant on 

environment  

(C) Plant Adaptation  

(D) All of the above  

 7. ikfjfLFkfrdh fdlds v/;;u ls laEcfU/kr gS%  

(A) Ik;kZoj.kh; dkjdksa  

(B) ikS/kksa dk Ik;kZoj.k ij izHkko  

(C) ikS/kkas esa vuqdwyu  

(D) mijksDRk lHkh  

8. The most important Abiotic factor 

is:  

(A)   Water  

(B) Climate  

(C) Nature of Soil  

(D) Light duration  

 8. lcls egRoiw.kZ vtSfod dkjd gS%  

(A) ty  

(B) ekSle  

(C) eǹk dk LoHkko  

(D) izdk’k vof/k  

9. The coolest desert is:  

(A)   Sahara  

(B) Gobi  

(C) Thar  

(D) Kalahari  

 9. lokZf/kd BaMk e:LFky gS%  

(A) lgkjk  

(B) xksch 

(C) Fkkj  

(D) dkykgkjh  
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10. Tropical forests occur in India is:  

(A)   Jammu and Kashmir  

(B) Rajasthan  

(C) Kerala and Assam  

(D) Do not occurs in India  

 10. m”.k dfVcU/kh; ou Hkkjr esa ik;s tkrs gaS%  

(A) tEew RkFkk d’ehj eas  

(B) jkTkLFkku eas  

(C) dsjy rFkk vle esa 

(D) Hkkjr es dgha ugha 

11. What is green belt? 

(A)   Belt of trees Lining the road  

(B) Preserved forest  

(C) Semi-rural Area with Low-

population  

(D) Forest at out skirts of city  

 11. gfjr iV~Vh D;k gS\  

(A) lM+d ds fdukjs isM+ks dh drkj;qDr 

iV~Vh  

(B) lajf{kr ou  

(C) de tula[;k okyk v/kZ nsgkrh {ks= 

(D) ‘kgj ds ckgjh fdukjksa dk {ks=  

12. Silent valley of Kerala is 

Preserved become it:  

(A)   Contains timber trees  

(B) Harbours Lions  

(C) Harbours Elephant  

(D) Contains rare Animals and 

plants  

 12. dsjy dh lkbyasV oSyh dks ljaf{kr fd;k 

x;k gS D;ksfd bleas%  

(A) ydM+h okys ikS/ks gS 

(B) ‘ksj fuokl djrs gSa  

(C) gkFkh fuokl djrs gSa 

(D) vnHkqn rFkk yqIr izk; tarq rFkk ikS/ks 

ekStwn gS  

13. In an ecosystem the green plants 

are: 

(A)   Producers  

(B) Predators  

(C) Decomposers  

(D) Consumers  

 13. ,d ikfjfLFkfrdh ra= es ikS/kks dh Hkwfedk gS%  

(A) mRiknd dh  

(B) Hk{kd dh  

(C) vi?kVd dh  

(D) miHkksDrk dh  
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14. Chipko Movementis connected to:  

(A)   Project Tiger  

(B) Animal breeding  

(C) Plant breeding  

(D) Plant conservation  

 14. fpidks vkanksyu fdlls laEcfU/kr gS%  

(A) izkstsDV Vkbxj 

(B) tarq iztuu  

(C) ikni iztuu  

(D) ikni lja{k.k  

15. Which gas is both useful and 

Harmful to Life on earth:  

(A)   Methane  

(B) Carbon dioxide  

(C) Oxygen  

(D) Ozone  

 15. dkSu lh xSl ìFoh ij thou ds fy, 

ykHkizn rFkk gkfudkjd nksuksa gS%  

(A) ehFksu  

(B) dkcZuMkbZ vkDlkbM  

(C) vkDlhtu   

(D) vkstksu  

16. Migration refers to :  

(A)   Death of individual  

(B) One-way inward Movement  

(C) One-way outward Movement  

(D) Periodic departure and return  

 16. ns’kkUrj xeu dk vfHkizk; gS%  

(A) tho dh èR;q  

(B) ,drjQk vanj dh vksj xeu  

(C) ,drjQk ckgj dh vksj xeu  

(D) lkef;d izLFkku rFkk okilh  

17. Which type of forest are found 

near the equator:  

(A)   Deciduous  

(B) Tropical  

(C) Coniferous  

(D) Grasslands  

 17. Hkwe/; js[kk ds ikl fdl izdkj ds ou ik;s 

tkrs gS%  

(A) ir>.k okys  

(B) Å”.k dfVca/kh;  

(C) dksuh Qsjl ¼phM+ nsonkj ;qDr½ 

(D) pkjkxkg  
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18. When the fertility of soil is lost it 

is called:  

(A)   Soil conservation  

(B) Soil erosion  

(C) Soil conversion  

(D) Soil silting  

 18. tc eǹk dh moZjrk dk gzkl gksrk gS rks bls 

dgrs gS%  

(A) Hkwfe laj{k.k  

(B) Hkwfe vijnu  

(C) Hkwfe :ikarj.k  

(D) Hkwfe ij flYV dk teko  

19. The Noise Pollution is Measured:  

(A)   Kilograms  

(B) Fathoms  

(C) Tons  

(D) Decibels 

 19. /ofu iznw”k.k dks ukirs gS%  

(A) fdyskxzke eas  

(B) QSne eas 

(C) Vu esa 

(D) Mslhcy esa 

20. Which metal poisoning cause Itai-

Itai disease: 

(A)   Mercury  

(B) Iron  

(C) Copper  

(D) Cadmium  

 20. fdl /kkrq ds tgjhys izHkko ls bVkbZ&bVkbZ 

chekjh gksrh gS%  

(A) ikjk  

(B) yksgk 

(C) rkack 

(D) dSMfe;e  

21. Two wheelers cause:  

(A)   Air Pollution  

(B) Noise Pollution  

(C) Air and Noise Pollution  

(D) Water Pollution  

 21. nqifg;k okguksa }kjk QSyrk gS%  

(A) ok;q iznw”k.k 

(B) /ofu iznw”k.k 

(C) ok;q rFkk /ofu iznw”k.k 

(D) ty iznw”k.k 
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22. Atmospheric humidity is measured 

by:  

(A)   Photometer  

(B) Potometer  

(C) Barometer  

(D) Hygrometer  

 22. ok;qe.Myh; ueh dks fdlds }kjk ekirs gS%  

(A) QksVksehVj  

(B) iksVksehVj  

(C) cSjksehVj  

(D) gkbZxzksehVj  

23. Which one of the following helps 

in protection and conservation of 

Biodiversity:  

(A)   Eco development  

(B) Biosphere reserve  

(C) National Parks  

(D) Game sanctuary  

 23. fuEufyf[kr esa ls dkSu tSofofo/krk dh 

lqj{kk rFkk laj{kk esa lgk;d gS%  

(A) bdksMsoyieasV  

(B) ck;ksfLQ;j fjtoZ  

(C) jk”Vªh; ikdZ  

(D) [ksy lSDpqvjh  

24. If all Green Plants of the world are 

destroyed:  

(A)   Herbivores shall die  

(B) All Animals shall die  

(C) Plant Pests shall die  

(D) Nothing shall happento 

Animal  

 24. ;fn lalkj ds lHkh gjs ikS/ks u”V gks tk;s rks%  

(A) ‘kkdkgkjh tarq ej tk;sxs 

(B) lHkh tarq ej tk;sxs 

(C) ikS/kksa ds uk’kh tho ej tks;sxs 

(D) tarqvksa dks dqN ugh gksxk  

25. Renewable source of Energy:  

(A)   Coal  

(B) Biomass  

(C) Kerosene  

(D) Petroleum  

 25. dkSu ls ÅtkZ ds Jksr dk uohuhdj.k dj 

ldrs gS%  

(A) dks;yk  

(B) tSoHkkj   

(C) dsjkslhu  

(D) isVªksfy;e  
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26. Which of the following is a man-

made ecosystem? 

(A)   River  

(B) Stream  

(C) Estuary  

(D) Reservoir  

 26. fuEufyf[kr esa ls dkSu lk ekuo&fufeZr 

ikfjfLFkrdh ra= gS\ 

(A) unh  

(B) /kkjk 

(C) ,Lpqjh  

(D) tyk’k;  
27. Ozone Layer is thickest over:  

(A)   Arctic  

(B) Antarctica  

(C) USA  

(D) Australia  

 27. vkstksu irZ lokZf/kd eksVh gS%  

(A) vdZfVdk esa 

(B) vaVkdZfVdk esa 

(C) la;qDr jkT; vesfjdk eas  

(D) vkLVªsfy;k esa 

28. TajMahal is threated due to effect 
of: 
(A)   Chlorine  
(B) Sulphur dioxide  
(C) Oxygen  
(D) Hydrogen 

 28. rktegy dks fdlds izHkko ls [krjk gS%  

(A) Dyksjhu 

(B) lYQjMkbZ vkDlkbM  

(C) vkDlhtu  

(D) gkbMªkstu  

29. “Green House Effect” is enhanced 

in the environment by the gas:  

(A)   CO2 

(B) CO 

(C) Fluorocarbons 

(D) Methane  

 29. Ik;kZoj.k esa xzhu gkml izHkko fdl xSl ls 

c<+rk gS%  

(A) dkCkZu MkbZ vkDlkbM  

(B) dkCkZu eksuks vkDlkbM  

(C) ¶ywjks dkCkZu  

(D) ehFksu  

30. Sound above what are considered 

hazardous Noise pollution:  

(A)   120 dB  

(B) 30 dB 

(C) 100 dB 

(D) 80 dB 

 30. fdl ek=k ls vf/kd /ofu dks gkfudkjd 

/ofu iznw”k.k ekuk tkrk gS%  

(A) 120 Mhch 

(B) 30 Mhch 

(C) 100 Mhch 

(D) 80 Mhch 
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31. The highest source of pollution in 

big cities is: 

(A)   Pesticide  

(B) Auto Mobiles  

(C) Industries  

(D) Radioactive Material 

 31. cM+s ‘kgjksa esa iznw”k.k lokZf/kd lzksr gS % 

(A) uk’kh jklk;u  

(B) Lopfyr okgu  

(C) m|ksx  

(D) jsfM;ks/kehZ inkFkZ 

32. Ozone depletion shall result in:  

(A)   Global warming  

(B) Forest fires 

(C) Blood cancer  

(D) None of the above 

 32. vkstksu ds gzkl dk Ikfj.kke gksxk%  

(A) fo’o ds rkieku es òf)  

(B) taxyksa esa vkx  

(C) jDr dSalj  

(D) mijksDr esa ls dksbZ ugha 

33. Ozone layer of atmosphere is 
being depleted by : 
(A)   Sulphurdioxide 
(B) Smog  
(C) Chloro-fluoro carbans  
(D) CO2 

 33. Ik;kZoj.k dh vkstksu irZ dk gzkl gksrk gS % 

(A) lYQj MkbZ vkDlkbM }kjk  

(B) Leksx }kjk 

(C) Dyksjks ¶yksjks dkcZu }kjk  

(D) dkcZu MkbZ vkDlkbM }kjk 

34. NationalEnvironmental Engineering 

Research Institute is located at: 

(A)   Lucknow  

(B) Nagpur  

(C) Kolkata  

(D) Delhi  

 34. jk”Vªh; Ik;kZoj.k vfHk;kaf=dh vuqla/kku 

laLFkku fLFkr gS%  

(A) y[kuÅ eas 

(B) ukxiqj esa 

(C) dksydkrk eas 

(D) fnYyh esa 

35. National Animal of India is: 

(A)   Peacock  

(B) Bull  

(C) Tiger  

(D) Lion  

 35. Hkkjr dk jk”Vªh; Ik’kq gS%  

(A) eksj  

(B) cSy  

(C) phrk  

(D) ‘ksj  



Series-D B.Sc. (Part-II&III)– 0511/ 102 Page - 11 

36. Penguin is found only in: 

(A)   Asia  

(B) Africa 

(C) Antarctica  

(D) America  

 36. isfXou ik;s tkrs gS dsoy%  

(A) ,f’k;k esa 

(B) vÝhdk esa 

(C) vaVkdZfVdk esa 

(D) vesfjdk esa 

37. The Largest Indian poisonous 
snake is: 
(A)   Python  
(B) Krait  
(C) Cobra  
(D) Sea Snake  

 37. lcls cM+k Hkkjrh; fo”kSyk lkai gS%  

(A) vtxj  

(B) djSr  

(C) ukx  

(D) leqnzh lkai  

38. The reason for population 
explosion in India is: 
(A)   Lack of Education  
(B) Climate  
(C) Increased Birth rate  
(D) All of the above  

 38. Hkkjr esa tula[;k foLQksV dk dkj.k gS%  

(A) f’k{kk dh deh  

(B) ekSle  

(C) vf/kd tUe nj 

(D) mijksDr lHkh 

39. The total National income divided 
by total production of a country is 
called: 
(A)   Per capita production  
(B) Per capita Income  
(C) Per capita gross income  
(D) Population income  

 39. dqy jk”Vªh; vk; esa dqy tula[;k ls Hkkx 

nsus ij fudyrh gS%  

(A) izfr O;fDr mRiknu  

(B) izfr O;fDr vk;  

(C) izfr O;fDr lexz vk;  

(D) tula[;k vk;  

40. Most thinly populated country of 

the world is: 

(A)   Australia  

(B) Japan  

(C) India  

(D) America  

 40. fo’o ds fdl ns’k esa tula[;k ?kuRo 

U;wure gS%  

(A) vkLVªsfy;k  

(B) tkiku  

(C) Hkkjr  

(D) vesfjdk  
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41. The highest and Lowest 
Population in India is in:  
(A)   Madhya Pradesh and Uttar 

Pradesh  
(B) Uttar Pradesh and Sikkim  
(C) Maharashtra and Nagaland  
(D) Andhra Pradesh and Assam  

 41. Hkkjr esa dgk¡ lokZf/kd rFkk U;wure 

tula[;k gS%  

(A) e/; izns’k rFkk mŸkj izns’k  

(B) mŸkj izns’k rFkk flfDde  

(C) egkjk”Vª rFkk ukxkySaM  

(D) vkU/kz izns’k rFkk vle  

42. The best solution to population 
problem in India is: 
(A)   To conserve Natural 

resources  
(B) To increase Medical facilities  
(C) To reduce Birthrate 
(D) To increase food production  

 42. Hkkjr esa tula[;k dh leL;k dk lokZsŸke 

lek/kku gS%  

(A) izkÑfrd lalk/kuksa dk laj{k.k  

(B) fpfdRlk lqfo/kkvksa esa òf)  

(C) tUenj esa deh  

(D) [kk| mRiknu eas òf) 

43. Sucrose is found in: 

(A)  Sugarcane  

(B) Potato  

(C) Honey  

(D) Orange  

 43. lqØkst Ikk;k tkrk gS%  

(A) xUus esa 

(B) vkyw esa 

(C) ‘kgn esa 

(D) larjk esa 

44. Photosynthesis means: 

(A)   Union of colours  

(B) Formation of food in 

presence of light  

(C) Synthesis of photons  

(D) Light of Dispersions  

 44. izdk’k la’ys”k.k dk vFkZ gS%  

(A) jaxks dk tqM+ko  

(B) izdk’k dh mifLFkr es [kk| dk 

fuekZ.k  

(C) QksVku dk fuekZ.k  

(D) izdk’k dk QSyko  

45. Which of the following is a 
Parasitic plant: 
(A)   Cuscuta 
(B) Utricularia  
(C) Mango  
(D) Neem  

 45. dkSu ,d ijthoh ikS/kk gS\ 

(A) vejcsy  

(B) ;wVªhdqysfj;k  

(C) vke  

(D) uhe  
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46. N.P.K. Stands for: 

(A)   Nana Patekar  

(B) Nitrogen Phosphorus and 

Potassium  

(C) No Parking Karo  

(D) Nitrogen Par Koyla  

 46. ,uŒ ihŒ dsŒ dk rkRi;Z gS%   

(A) ukuk ikVsdj  

(B) ukbVªkstu QkLQksjl iksVsf’k;e  

(C) uks ikfdZax djks  

(D) ukbVªkstu ij dks;yk  

47. Pioneer of Chipko Movement: 

(A)   M.S. Swaminathan  

(B) Baba Amte  

(C) Medha Patekar  

(D) Sunder Lal Bahuguna  

 47. fpidks vkUnksyu ds iz.ksrk Fks%  

(A) ,eŒ ,lŒ LokehukFku  

(B) ckck vkEVs 

(C) es/kk ikVsdj  

(D) lqanjyky cgqxq.kk 

48. Amount of Nitrogen as percentage 
in Atmosphere:  
(A)   50 
(B) 65 
(C) 70 
(D) 78 

 48. ok;qeaMy es ukbVªkstu dk izfr’kr gS%  

(A) 50 

(B) 65 

(C) 70 

(D) 78 

49. Every organism is affected by and 

in turn affects the same:  

(A)   Water  

(B) Land  

(C) Environment  

(D) Gas  

 49. izR;sd tho fdls izHkkfor djrk gS o mlls 

izHkkfor gksrk gS%  

(A) ty 

(B) ìFoh  

(C) Ik;kZoj.k  

(D) xSl  

50. National Bird of India is: 

(A) Swan  

(B) Eagle  

(C) Peacock  

(D) Kingfisher  

 50. Hkkjr dk jk”Vªh; i{kh gS%  

(A) gal  

(B) phy  

(C) eksj  

(D) uhydaB 
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51. Whatare endangered species : 

(A)   Species that have become 

extinct  

(B) Species that are found in 

Australia  

(C) Species that are in danger of 

extinction  

(D) All of the above  

 51. yqIrizk; tkfr dk vFkZ gS % 

(A) tkfr tks foyqIr gks pqdh gS  

(B) tkfr tks vkLVªsfy;k esa ik;h tkrh gS 

(C) tkfr ftl ij foyqIr gksus dk [krjk 

gS 

(D) mijksDr lHkh  

52. Blue-revolution is related to:  

(A)   Food grains production  

(B) Milk production  

(C) Fish production  

(D) None of these  

 52. uhy&Øakfr fdlls laEcfU/kr gS%  

(A) [kk|kUu mRiknu  

(B) nqX/k mRiknu  

(C) eNyh mRiknu  

(D) buesa ls dksbZ ugha  

53. Gas involved in Bhopal gas 

tragedy was: 

(A)   Sulphur dioxide  

(B) Nitric oxide  

(C) Methyl isocyanate 

(D) Ammonia  

 53. Hkksiky xSl =klnh fdl xSl ds dkj.k gqbZ 

Fkh%  

(A) lYQj gkbZ vkDlkbM  

(B) ukbfVªd vkDlkbM  

(C) esFkkby vkblkslkbusV  

(D) vkeksfu;k  

54. This is referred to as BOD: 
(A)   Blood Oxygen Deficit  
(B) Basic Oxygen Demand  
(C) Body Oxygen Deficit  
(D) Biological Oxygen Demand  

 54. chŒ vksŒ MhŒ dk vfHkizk; gS%  

(A) CyM vkDlhtu MsfQflM  

(B) csfld vkDlhtu fMekaM  

(C) ckWMh vkDlhtu MsfQflV  

(D) ck;ksykftdy vkDlhtu fMekaM  
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55. Major pollutant of automobiles is:    

(A)   Carbon monoxide  

(B) Petroleum  

(C) Hydro carbons  

(D) Nitrogen oxide  

 55. Lopfyr okguksa ls D;k eq[; iznw”kd 

fudyrk gS%  

(A) dkcZu eksuksvkDlkbM  

(B) isVªksfy;e  

(C) gkbMªksdkcZu  

(D) ukbVªkstu vkDlkbM  

56. In an ecosystem Bacteria are:  

(A)   Micro consumer  

(B) Decomposer  

(C) Primary consumer  

(D) Secondary consumer  

 56. ,d ikfjfLFkfrdh ra= esa thok.kq dh Hkwfedk%  

(A) lw{e miHkksDrk  

(B) vi?kVd  

(C) izkFkfed miHkksDrk  

(D) f}rh;d miHkksDrk  

57. The desert animals confine their 

activities during night because 

they:  

(A)   Can see well  

(B) Get sufficient food 

(C) Have adaptation for nocturnal 

life  

(D) Less loss of water  

 57. e:LFkyh; tho jkr esasa lfØ; gksrs gS 

D;ksafd%  

(A) og vPNh rjg ls ns[k ldrs gSa 

(B) izpqj Hkkstu Ikk tkrs gS 

(C) jkf= ds fy, vuqdwfyr gksrs gSa 

(D) de rkieku ds dkj.k ty dh {kfr 

de gksrh gS 

58. There are called decomposes:  
(A)   Algae  
(B) Fungi and bacteria  
(C) Tigers  
(D) Rain water  

 58. fdldks vi?kVd dgrs gS%  

(A) ‘kSoky  

(B) QQwnh RkFkk thok.kq  

(C) phrk  

(D) o”kkZ ty  
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59. Vegetation of a place is 

determined by. 

(A)   Amount of Light  

(B) Type of soil  

(C) Rainfall  

(D) Soil water  

 59. fdlh LFkku dh ikS/kksa dh òf) fu/kkZfjr gSA  

(A) izdk’k dh ek=k  

(B) eǹk ds izdkj  

(C) o”kkZ ls  

(D) eǹk ty ls  

60. In India Maximum soil erosion is 

due to:  

(A)   Fast winds  

(B) Floods  

(C) Deforestation  

(D) Drought  

 60. Hkkjr esa lokZf/kd ènk vijnu fdlds dkj.k 

gksrk gS%  

(A) rst gok,a 

(B) ck<+  

(C) ouksa dk fouk’k  

(D) lw[kk 

61. All the living organism over this 

Earth constitute:  

(A)   Association  

(B) Biosphere  

(C) Community  

(D) Biome  

 61. bl ìFoh ds lHkh tho feydj cukrs gS%  

(A) la?k  

(B) tSo txr  

(C) laizn+k; 

(D) tSo lewg  

62. There is no life on moon because 

there is no:  

(A)   Oxygen  

(B) Carbon dioxide  

(C) Nitrogen  

(D) Water  

 62. pUnzek ij thou ugha gS D;ksfd ogka ij 

vHkko gS%  

(A) vkDlhtu dk  

(B) dkCkZuMkbZ vkDlkbM dk  

(C) ukbVªkstu dk  

(D) ty dk  
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63. What of the following is not a 

biotic resource? 

(A)   Green plants  

(B) Milk  

(C) Coal  

(D) Rocks  

 63. fuEufyf[kr eas ls dkSu lk tSfod lalk/ku 

ugha gS\ 

(A) gjs ikS/ksa  

(B) nw/k  

(C) dks;yk  

(D) pV~Vkus  

64. The Decompose organic matter 

present in soil is called:  

(A)   Humus  

(B) Silt  

(C) Clay  

(D) Gravels  

 64. eǹk esa mifLFkr fo?kfVr dkcZfud inkFkZ dks 

dgrs gaS%  

(A) º;wel  

(B) flYV  

(C) Dys  

(D) dadM+  

65. Disintegration of rock to form soil 

occurs via:  

(A)   Physical weathering  

(B) Chemical weathering  

(C) Biological weathering  

(D) All of the above  

 65. pV~Vkuksa ds {k; ls eǹk dk fuekZ.k gksrk gS% 

(A) HkkSfrd f?klkbZ  

(B) jklk;fud f?klkbZ  

(C) tSfod f?klkbZ  

(D) mijksDr lHkh  

66. Major part of free water on earth is 
not usable as it is found in: 
(A)   Oceans  
(B) Glaciers  
(C) River  
(D) Atmosphere  

 66. ìFoh ij mifLFkr eqDr ty dk vf/kdka’k 

Hkkx bLrseky ugha gksrk gS D;ksfd ;g ekStwn 

gS%  

(A) leqnz esa 

(B) fge[kaMks eas  

(C) ufn;ksa esa 

(D) ok;qeaMy esa 
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67. Which of these gases has lowest 

share in the atmosphere?  

(A)   Nitrogen  

(B) Oxygen  

(C) Hydrogen  

(D) Ozone  

 67. fuEufyf[kr esa ls dkSu lh xSl ok;qe.My es 

lcls de ek=k es ik;h tkrh gS\  

(A) ukbVªkstu  

(B) vkDlhtu  

(C) gkbMªkstu  

(D) vkstksu  

68. EPA an environmental protection 

agency is playing effective role in:  

(A)   U.S.A. 

(B) U.K.  

(C) India  

(D) Japan 

 68. bZŒihŒ,Œ ,d Ik;kZoj.k lqj{kk ,atslh gS ;g 

dgk lØh; Hkwfedk vnk dj jgh gS%  

(A) ;wŒ,lŒ,Œ  

(B) ;wŒdsŒ  

(C) Hkkjr  

(D) tkiku  

69. World Wildlife Fund (WWF) 

Headquarter is located at?  

(A)   Gland Switzerland  

(B) Paris France  

(C) New York, U.S.A.  

(D) Delhi, India  

 69. fo’o oU; tho dks”k dk eq[;ky; dgk¡ gS\ 

(A) XyakM fLoVtjySaM  

(B) isfjl Ýkal  

(C) U;w;kdZ] ;wŒ,lŒ,Œ  

(D) fnYyh] Hkkjr  

70. UNEP Stand for:  
(A)   United Nations Environment 

Programme  
(B) Unseen Neutral Ecological 

Planning  
(C) United Nations Ecological 

Planning  
(D) United Neutral Environment 

Programme  

 70. ;wusi laf{kIr uke gS%  

(A) ;wukbVsM us’kal ,uokbjksuesaV izksxzke 

(B) vUlhu U;wVªy bdksykftdy Iykfux 

dk  

(C) ;wukbVsM us’kal bdksykftdy Iykfux 

dk  

(D) ;wukbVsM U;wVªy ,uokbjksuesaV izksxzke 

dk  
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71. Which atomic power plant is 

located in Uttar Pradesh?  

(A)   Kota  

(B) Kalpakkam  

(C) Tarapore  

(D) Narora  

 71. dkSu lk ijek.kq ‘kfDr dsUnz mŸkj izns’k es 

gS\ 

(A) dksVk  

(B) dyiDde  

(C) rkjkiqj  

(D) ujksjk  

72. Largest part of total energy is India 

is consumed by:  

(A)   Industries   

(B) Transportation 

(C) Agriculture  

(D) Household uses  

 72. Hkkjr esa dqy ÅtkZ dk lokZf/kd Hkkx [kpZ 

gksrk gS%  

(A) m|ksxksa esa 

(B) ;krk;kr esa 

(C) Ñf”k eas  

(D) ?kjsyw iz;ksx esaa 

73. Petro crops contain sap and latex 

rich in:  

(A)   Protein  

(B) Carbohydrate  

(C) Hydrocarbons  

(D) Lipids  

 73. baZ/ku Qlyksa ds jl RkFkk ysVsDl esa vf/kd 

gksrk gS%  

(A) izksVhu  

(B) dkckZsgkbMªsV  

(C) gkbMªksdkcZUk 

(D) olk  

74. Which of the following is 
alternative source of energy to 
mankind?  
(A)   Biogas  
(B) Petro crops 
(C) Tides  
(D) All of the above  

 74. dkSu lk ekuo lekt ds fy;s oSdfYid 

ÅtkZ lzksr gS\ 

(A) ck;ksxSl  

(B) bZa/ku Qlysa 

(C) Tokj HkkVk  

(D) mijksDRk lHkh  
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75. Chief component of natural gases:  

(A)  Methane  

(B) Carbon dioxide  

(C) Chlorine  

(D) Nitrogen  

 75. izkÑfrd xSl dk eq[; ?kVd gS%  

(A) ehFksu  

(B) dkcZuMkbZ vkDlkbM  

(C) Dyksjhu  

(D) ukbVªkstu  

76. In India largest fresh water 

requirement is for:  

(A)   Industries  

(B) Live stock  

(C) Power plants  

(D) Irrigation  

 76. Hkkjr es lokZf/kd eǹq ty dh [kir gS%  

(A) m|ksxksa esa 

(B) Ik’kqikyu eas  

(C) fo|qr ifj;kstukvksa eas  

(D) flpkbZ esa 

77. More than 50% of total land 

surface is:  

(A)   Unusable Land  

(B) Arabic Land  

(C) Grassland  

(D) Forest  

 77. dqy /kjrh dh lrg dk 50% ls vf/kd Hkkx 

gS%  

(A) viz;qDr Hkwfe 

(B) Ñf”k ;ksX; Hkwfe  

(C) pkjkxkg  

(D) ou  

78. Resource depletion refers to: 

(A)   Consumption faster than 

regeneration   

(B) Regeneration faster than 

consumption 

(C) Regeneration and consumption 

at same rate  

(D) None of these  

 78. lalk/kuksa dk gkzl dk vFkZ gS%  

(A) mRiknu ls vf/kd [kir  

(B) [kir ls vf/kd mRiknu  

(C) leku nj ls mRiknu rFkk [kir  

(D) buesa ls dksbZ ugha  
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79. Gas bubble disease in fish is 

caused due to: 

(A)   Thermal pollution  

(B) Noise pollution  

(C) Radioactive pollution  

(D) Radiations  

 79. xSl&cfcy fMlht tks eNfy;ksa esa gksrh gS 

dk dkj.k gS%  

(A) Å”Ekk iznw”k.k 

(B) /ofu iznw”k.k  

(C) jsfM;ks/kehZ iznw”k.k  

(D) fofdj.k  

80. Silent zones with reference to 

noise pollution contains: 

(A)   Industries  

(B) Residential Area  

(C) Commercial Area  

(D) Hospitals  

 80. /ofu iznw”k.k ds lanHkZ es ‘kkar {ks= es ‘kkfey 

gksxk%  

(A) m|ksx  

(B) vkoklh; {ks=  

(C) O;kolkf;d {ks=  

(D) vLirky  

81. Which heavy metal pollution is 

linked to leather industry?  

(A)   Cadmium  

(B) Aluminum 

(C) Lead  

(D) Chromium  

 81. dkSu Hkkjh /kkrq iznw”k.k peM+k m|ksx ls tqM+k 

gS\  

(A) dSMfe;e  

(B) ,yqfefu;e  

(C) ysM  

(D) Øksfe;e  

82. Use of pesticides can be reduced 

by Adapting:  

(A)   Physical control  

(B) Mechanical control  

(C) Biological control  

(D) All of the above  

 82. uk’kh jklk;uksa ds iz;ksx dks de dj ldrs 

gS%  

(A) HkkSfrd fu;a=.k }kjk  

(B) ;kaf=d fu;a=.k }kjk  

(C) tSfod fu;a=.k }kjk  

(D) mijksDr lHkh  
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83. Which is the following liquid  

waste:  

(A)   Sewage  

(B) Trash  

(C) Packing materials  

(D) Garbage  

 83. fuEufyf[kr esa dkSu lk nzo mRlthZ inkFkZ 

gS%  

(A) lhost  

(B) fruds rFkk ifRr;ka  

(C) iSfdax lkexzh  

(D) dwM+k 

84. Conservation of forest involves:  

(A)   Prevention of deforestation  

(B) Extension of forest Areas  

(C) Both (A) and (B)  

(D) None of these 

 84. ou laj{k.k gsrq vko’;d gS%  

(A) ouksa ds fouk’k dh jksdFkke  

(B) ou {ks= dk foLRkkj  

(C) nksuksa (A) rFkk (B) 

(D) buesa ls dksbZ ugha  

85. Major cause of deforestation in 

India is:  

(A)   Expansion of Agriculture  

(B) Timber of Harvesting  

(C) Cattle ranching  

(D) All of the above  

 85. Hkkjr es ouksa ds fouk’k dk dkj.k gS%  

(A) Ñf”k dk foLRkkj  

(B) ydM+h dh dVkbZ  

(C) tkuojksa dh pjkbZ  

(D) mijksDr lHkh  

86. Which is a biomass based energy 

resource:  

(A)   Biogas 

(B) Hydro-power  

(C) Nuclear power  

(D) Electric power  

 86. dkSu lk tSoHkkj vk/kkfjr ÅtkZ lzksr gS%  

(A) ck;ksxSl  

(B) ty ÅtkZ  

(C) ukfHkdh; ÅtkZ  

(D) fo|qr ÅtkZ  
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87. Nephelometer is used to measure:  

(A)   Turbidity of water  

(B) BOD of water  

(C) COD of water  

(D) PH of water  

 87. usQyksehVj }kjk ekirs gS%  

(A) ty dh VfoZfMVh  

(B) ty dk chŒvksŒMhŒ 

(C) ty dk lhŒvksŒMhŒ 

(D) ty dk ihŒ,pŒ 

88. Hardness of water occurs due to:  

(A)   Inorganic salts  

(B) Organic matter  

(C) Salts of calcium and 

magnesium  

(D) None of above  

 88. ty dh dBksjrk dk dkj.k gS%  

(A) vdkcZfud yo.k  

(B) dkcZfud inkFkZ  

(C) dSfY’k;e rFkk eSXusf’k;e ds yo.k  

(D) buesa ls dksbZ ugh  

89. Which is an exotic weed found in 

India? 

(A)   Parthenium  

(B) Eucalyptus  

(C) Casuarina  

(D) Rauwolfia  

 89. dkSu lk ,d ckgjh ¼fons’kh½ i.kZukFkh Hkkjr 

esa ik;k tkrk gS\  

(A) ikFkZsfu;e  

(B) ;wdSfyIVl  

(C) dStqjkbuk  

(D) jksokfYQ;k  

90. A species is which not a natural in 

habitant of the locality is called:  

(A)   Endemic  

(B) Endangered  

(C) Exotic  

(D) Native 

 90. ,d tkfr tks fdlh LFkku dh ewy fuoklh 

ugh gS dgykrh gS%  

(A) LFkku lhfer  

(B) yqIrizk; 

(C) ckgjh  

(D) ewy  
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91. Diversity in genetic makeup of a 

species referred to as: 

(A)   Species diversity  

(B) Genetic diversity  

(C) Habitat diversity  

(D) None of the above  

 91. ,d tkfr dh vuqoaf’kd lajpuk esa fofo/krk 

dks dgrs gaS%  

(A) tkfr fofo/krk  

(B) vuqoaf’kd fofo/krk 

(C) LoHkkfod fofo/krk 

(D) mijksDr esa ls dksbZ ugha  

92. Acid rain is a consequence of 

accumulation of:  

(A)   Sulphur dioxide   

(B) Nitrogen oxides  

(C) Aerosols  

(D) All of the above  

 92. vEy o”kkZ fdlds laxzg ds dkj.k gksrh gS%  

(A) lYQj MkbZ vkDlkbM  

(B) ukbVªkstu vkDlkbM  

(C) ,sjkslksy  

(D) mijksDRk lHkh  

93. Aerosol accumulation in 

Atmosphere cause:   

(A)   Block of solar radiation  

(B) Accelerate precipitation  

(C) Dissemination of pathogenic 

diseases 

(D) All of the above  

 93. ok;qe.My es ,sjkslksy ds teko ls gks tkrk 

gS%  

(A) lw;Z ds fofdj.k es vojks/k  

(B) o”kkZ es òf) 

(C) jksxk.kq vk/kkfjr chekfj;ksa dk izlkj  

(D) mijksDRk lHkh  

94. Carbon monoxide concentration is 
maximum in:  
(A)   Kolkata  
(B) Delhi  
(C) Kanpur  
(D) Bareilly 

 94. dkcZueksuks vkDlkbM vf/kdre gS%  

(A) dksydkrk eas 

(B) fnYyh esa 

(C) dkuiqj esa  

(D) cjsyh esa 
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95. DDT is a:  

(A)   Degradable Pollutant  

(B) Non degradable pollutant  

(C) Greenhouse gas  

(D) None of the above 

 95. MhŒMhŒVhŒ gS ,d%  

(A) vi?kfVr gksus okyk iznw”kd  

(B) u vi?kfVr gksus okyk iznw”kd  

(C) xzhugkml xSl  

(D) mijksDRk esa ls dksbZ ugha  

96. The most polluted city in the 

worlds:  

(A)   Tokyo  

(B) Kolkata  

(C) New York  

(D) Mexico 

 96. fo’o dk lokZf/kd iznwf”kr ‘kgj gS%  

(A) Vksfd;ks  

(B) dksydkrk  

(C) U;w;kdZ  

(D) esfDldks 

97. Carbon mono dioxide is a 

pollutant as:  

(A)   It inhibits Glycolysis  

(B) It combines with O2 

(C) It combines with Hemoglobin  

(D) It inactivates nerves  

 97. dkcZu eksuks MkbZ vkDlkbM ,d iznw”kd gS 

D;ksfd%  

(A) ;g Xykbdksfll dks de djrh gS  

(B) ;g vkDlhtu ls tqM+rh gS 

(C) ;g gheksXyksfcu ls tqM+rh gS  

(D) raf=dkvksa dks fuf”Ø; djrh gS  

98. Black Lung disease is common in:   

(A)   Refinery worker  

(B) Farmers  

(C) Coalminers  

(D) Teachers  

 98. dkyk QsQM+k jksx ik;k tkrk gS%  

(A) fjQkbujh dfeZ;ks esa 

(B) fdlkuksa esa 

(C) dks;yk dfeZ;ks esa 

(D) v/;kidks esa 
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99. When did Bhopal disaster occur in 

India? 

(A)   1940 

(B) 1960 

(C) 1984 

(D) 1998 

 99. Hkkjr esa Hkksiky =klnh fdl o”kZ esa gqbZ Fkh\ 

(A) 1940 

(B) 1960 

(C) 1984 

(D) 1998 

100. Which is bio-non-de degradable 

pollutant?  

(A)   Mud  

(B) Leaves  

(C) Plastic things  

(D) Vegetable  

 100. dkSu lk iznw”k.k tSo vi?kfVr ugha gksrk gS\ 

(A) dhpM+  

(B) ifŸk;ka  

(C) IykfLVd lkexzh  

(D) lfCt;ka  

 

****** 

 

 

 

 

 

 

 

 

 

 



Series-D B.Sc. (Part-II&III)– 0511/ 102 Page - 27 
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3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


